CERTIFICATE IN ACCOUNTING TECHNICIANS
FOUNDATION COURSE (ENTRY LEVEL) PART I EXAMINATION

December 2009 CAT-1(OMF)

Organisation and Management Fundamentals
Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.

Secrion 1

Answer Question No. 1 which is compulsory and one from the resi.

1. Do you agree with the following Statements? Write ‘Yes’ or “No" giving proper reasoning in support of your
answer. No marks will be awarded if only *Yes’ or ‘No’ is mentioned. 2x9

(a) Organisation is considered as an activity.

(b) There is scalar chain in line organisation.

(c) Informal organisation is a joint personal activity without conscious common purpose.

(d) Without division of labour, a job would be so inclusive that its performance would be impossible.
(e) ‘Personality’ refers to external appearance and behaviour only.

(f) ‘Attitude’ refers to a mental status of readiness to do or not to do any activity.

(g) The mission statement of an organisation refers to the target to be achieved during a period.

(h) Formally goals are set by the entrepreneurs always.

(i) Conflict refers to uncertainty in an organisation.

2. (a) What are the steps involved in organisation function?
(b) State the four pillars of classical theory of organisation.

(c) What are the methods to be adopted to resolve conflicts in an organisation? 4444

3. (a) State the main characteristics of authority.
(b) Differentiate Organisation Theory and Organisation Behaviour.

(c) State any four bases of departmentation. 4+4+4
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Section IT

Answer Question No. 4 which is compulsory and any three from the res:.

(a) Match the statement in Column I with appropriate statement under Column II:

Coluimn 1 Column Il
Departmentation (A) Bonus/Incentive
Informal group (B) Communication Process
Elton Mayo (C) Complement to Organisation Structure
Intra-individual and inter-individual (D) Productwise Division

Halsey's Plan (E) Hawthorne Experiments

Piece Rate System (F) Conflicts

Coding and Decoding (G) C.PM.

Public Sector Undertaking (H) Method of Wage Payment

Control Technique (I) Directors

Board Meetings (J) Service Motive

Maslow (K) Two-factor Theory

Herzberg (L) Hierarchy Theory 1x12

(b) Fill in the blanks:

(1)

(i)

(iii)

involves shifting of an employee from one job to another without changing the responsibility
of the employee.
Temporary removal of an employee from the payroll of an organisation by an employer due to
uncontrollable reasons is known as

Golden handshake refers to retirement.

{(iv) is a systeinatic attempt to probe the future by inference from known facts.
(v) decisions are those that are repetitive and routine.
(vi) MIS is the system of organising the flow network within the organisation.
(vii) Theory Y assumes that people are self motivated and was advocated by
(viii) Power is based on the personality attributes or personal virtues of a person.
{(ix) Profit making public sector enterprises are referred to as 1x9
(c) State what the following abbreviations stand for:
(i) MBO,
(i) SOBC Model,
(iir) MIS,
(iv) MOU,
(v) BIRF,
(vi) GST,
(vii) CPM
(viii) GAIL. I1x8



(3) CAT-1(OMF)

(d) Give the proper sequence among the following:
(i) Scrutiny of Applications, Medical examination, Interview, Checking references.
(i) Establishment of Objectives, Problem Identification. Evaluating Alternatives, Developing Premises.
(iti) Social needs, Safety needs, Physiological needs, Esteem needs, Self-actualisation needs.
(iv) Selection, Placement, Manpower Planning. Ttaining_ and Development. 1 x4

(e) Define, in just one sentence, the following:
(i) Delegation of Authority;
(ii) Lock out;
(iii) Span of Control;
(iv) Privatisation:
(v) Statutory Meeting. 255

Explain the fundamental principles of Scientific Management, as propounded by EW. Taylor. 9

(a) State the different types of leadership styles.

(b) Distinguish between formal and informal organisations. 445

(a) Describe the process of delegation.

(b) What are the challenges before the future managers? 4435

Write notes on any three of the following:

(a) Unity of Command;

(b) Advantages of training;

(¢) Any three reasons for resistance to change among employees;

(d) Disinvestment Policy:

(e) Kinds of Public Sector Undertakings. 34343
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SECTIONI

Answer Question No. 1 which is compulsory and any one from the rest

In case of any discrepancy, examinees are advised to follow the English version.
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gug 1
GUEII Y Fv9 HE& 4 %1 T A o1 5 sifyar & iR oy =m w7 9 fagt &7 997 &l I S |
(a) FITH 19 HU1 F Hle™ 11 F Foe § g fem =10 1x12
Hfer 1 Fed 11
(i) fasmirem (2) SFTE/HeET
(i) =R v (b) HER Wik
(iii) TEeA HA (Elton Mayo) (¢) HTHA &= % TR
(iv) sm=ifie S ain (d) IR faurm
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(v) o™ FeEm (e) UM WM (Hawthorne Experiments)
(vi) F4 ST et (f) a=rd
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(viil) HESH &7 0% (h) =gl ypram = fafy
(ix) F&= s (i) Tews
(x) 1€ q3F (j) a1 Y
(xi) T (Maslow) (k) f-=r= fagra
(xii) ®Sia (Hertzberg) (1) wH-sgeey fagra
(b) T vt =1 wfed . 1%9
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(c) Trefafiad wfem w=di =1 gy (Full Form) fafam . 1%8
(i) TH. €. 3.
(i) w9, 3. &1 o€, "ea
(iii) UH. STE. TE.
(iv) . 3. 7,
(v) =, B, AR TH.
(vi) S, @8, .
(vii) &1 @ wm.
(viii) Sfl. T 3E. e
(d) Frfafen #1 & %9 A fafag - 14
(i) 3 93 H 9d Ho, Tafeea S, e, o4t =i =)
(i) SERTE! I T, THEAS i Yeam, fawedl =1 997, 98 = fae =)
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SETIHA |
(iv) =EA, 9SRITYT (We¥), HrEEeta fraem, wiem oiv faem |
(e) hael Uk g H uftfog =1 . 2X5
(i) ARl &1 Jrrdor
(i) rEmE<t
(iii) TE=00
(iv) Tafsreror
(v) Senfes |
5. U %], 2R (F. W. Taylor) 5101 ufquifen dasnives wei & fagra =1 awzmed |
6. (a) g Yt & fafu= yeril =1 wwemed)
(b) =i T ST Tee # S e |
7. (a) W(Delegation)aﬁm@ml
(b) Tl YereIl 3 WHe 1 gAITaar 87
8. Trfefad § 3§ fedl d9 w feuft fafad - 3x3
(a) 3eH T WAl (Unity of Command);
(b) WO & TY;
(c) wHEfE! gry ufEds =1 faiy Rl 9 & #8919 sro;
(d) fafsEm e (Disinvestment Policy);
(e) TTEITh SUHHAT & WHH |
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